	Woody owned 50 hats. He bought 20 more. How many hats does Woody have now?

Number sentence_____________________

Answer____________________
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	Buzz had 35 different buttons on him. 14 of them stopped working. How many working buttons does Buzz have left?
Number sentence_____________________

Answer____________________
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	Andy was doing his maths homework. There were 37 questions on his homework. He had done 15 of them. How many questions did he have left to do?
Number sentence_____________________

Answer____________________
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	Jessie met 22 new toys today. She had already met 74 toys yesterday. How many toys did she meet altogether?
Number sentence_____________________

Answer____________________
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	Mr Potato Head had 18 spare eyes and 12 spare ears. How many spare parts does he have altogether?
Number sentence_____________________

Answer____________________
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